AOET Iy R

B S WET SHO6E TAS S 64 8A LHMER 110 H
. PAYS AN
kkkxo ok ok ok 2R k% ok %k (21RH)
= e E 28
21,447 A 43,308 A 21,861 A
% 28
2000 1600 1200 800 100 A e I8 100 800 1200 1600 2000
A G
+ 31100~ 35 +
T % 47195~99 152 xxx+
+x %% 156 |90 ~94| 457 fxxkkkxck skt
txxkkxxkkkx 430 |85~89| 718 fxxkkkrckkkxckkrxt
Fxskkxxkkkxckkkxk k% TT1180~84| 1020 IR RS2 22E
thkkkxkkkkxkkkkxk bk sk xkkxk x k% 1102 {75~79| 1356 kkkkkxkxkkkkkkkkkkkkkkkkxkxkxkx kx4
LI 2R 22222222 1502 |70 ~74] 1655 R R R R R R R R R R R
Prskkx ek ks r e b bk rc bk r ek bk xc kv k4 1322 165~69| 1352 R R R R R R R E R R
R R R R R R R R R R R R R SRR EE R RS 1215160 ~64| 1238 R R R SRR R R R
R R R R R R R R R R R R R 1298 |55 ~59] 1222 R R R R R R R
R E R R R R R R R R R R R R R R R R R R R 1740 |50 ~54] 1543 R R R R R R R R R R
R R R R R R R R R R R R R R R R R R R 1733 [45~49| 1685 LRI R R R R R R R R R R R R R R RN
IR R R R R R R R R R R R R 1450 |40 ~ 44| 1425 LRI IR R R R R R R R R R R
L RIS TR R R R R R R R R R R R R R R R 1348 [35~39| 1262 R R R R R R R R R R
LRI R R R R R Z SRR R E R R 1124130~ 34| 1068 LRI R R R R R R R R R R R
Fhxkkkkkkkkkkkkxkkkkkkkkkk k% 1136 (25~ 29 957 ¥k kkkkxkxkxkxkxkxkkk k%4
LRI R R R RIS 1163 [20~24| 1142 LR E 2R
LI R R RS2 T 1142 15~19| 1053 fxxkkkrckkkxkhkkxkhkkxkk kx4
SRR RIS 109510~ 14| 994 IR0
LIRS 937 5~ 9| 853 R R R R R R TR RS N
Fxskkrkx stk rx sk xck 4 733 0~ 4| 674 R EEEEEEEEEE S R
* 40 NzZd
t: 40 ARG &2 729



